BK Falkenberg
Trivselbridge - SBF Simultan 2019-05-15

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 8 216 64.29  Villy Havasi - Torgild Olsson 89205 2730 BK Albrekts - Arvika BS
2 15 214 63.69 Lennart Ostman - Einar Jonsson 36190 2732  Falu BK - BK Falkenberg
3 16 200 59.52  Ove Olsson - Stellan Andersson 10903 2726  BK Falkenberg
4 3 197 58.63  Ronny Karlsson - Lennart Nilsson 31547 19849 BK Falkenberg
5 11 190 56.55  Sven-Olof Onnesson - Britt-Mari Onneson 10902 45855 BK Falkenberg
6 7 180 53.57  Elena Bolafios - Henrik Johansson 92020 15131 BK Albrekts
7 1 171 50.89  Peter Krug - Anders Norin 14201 8191  Harplinge BK
8 9 164 48.81 Ritva Andersson - Birgitta Karlsson 13224 31546 BK Falkenberg
8 14 164 48.81  Solveig Blockgren - Doris Helmersdotter 86495 89686 BK Falkenberg - Atrans BK
10 2 161 47.92  Jan Janson - Bengt-Ake Ronnborg 37924 46789 BK Falkenberg
11 13 160 47.62  Olafur Valgeirsson - Ragna Olafsdottir 1256 9197  Atrans BK
12 12 154 45.83 Ingemar Andersson - Barbro Andersson 23753 23752 BK Falkenberg
13 10 138 41.07 Inger Wiklander - Morgan Wiklander 3468 1785  Alingsas BS
14 6 133 39.58 Gun Claesson - Solveig Tideman 25650 19838 BK Falkenberg
15 4 127 37.80 Jan-Olof Johnsson - Thomas Andersson 79587 37816 BK Falkenberg
16 5 119 35.42  Anita Andersson - Ingela Nilsson 2991 1079  BK Falkenberg
1 4 DKn75 2 4 K7 3 & KKn4
Nord v KKn3 Ost v KKn10532 Syd v KDKn9
Ingen + 109 NS +5 ov ¢ 102
#KKn64 #D1054 #KDKn10
# 96 & K2 «84 « E106 «E106 #9873
vED105 v962 v 987 vED6 vE542 v1086
¢ EKKn8 ¢ 75432 ¢ DKn3 ¢9876 ¢KD4 53
#975 #E32 #EK987 #Kn62 &E74 #9852
4« E10843 4 DKn9532 4« D52
v 874 v4 v73
+ D6 + EK1042 + EKn9876
+D108 &3 #63
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 6 34 S+1  ¢A 170 140 00| 3 5 44 S= LY 620 130 10| 1 16 A=/A= 70 7.0
9 4 4¢ V-3 4Q 150 120 20|15 6 44 S= *A 620 13.0 10| 4 6 A=/A= 70 7.0
8 11 24 S+1  +A 140 9.0 50| 8 11 24 S+3 &A 200 100 4.0| 7 15 A=/A= 70 7.0
13 1 34 N= v2 140 90 50|14 7 44V-3 oK 150 80 6.0| 9 12 A=/A= 70 7.0
3 52 V-1 4Q 50 4.0 10.0|16 12 24 S+1 #A 140 6.0 80|10 5 A=/A= 70 7.0
14 7 INV-1 *4 50 40 100| 9 4 44 S-1 *A -100 3.0 110|111 3 A=/A= 70 7.0
16 12 4¢ O-1 oA 50 40 100|10 2 44 S-1 LY -100 3.0 110|13 2 A=/A= 70 7.0
10 2 34 S-1 *A -50 00 140|113 1 44 S-2 *A -200 0.0 140|114 8 A=/A= 70 7.0
4 4 Kn72 5 4 D9753 6 4 K852
Vast vKn875 Nord v Kn6 Ost v7
Alla +KD10 NS ¢+ Kn4 ov ¢+ EKDKn93
#873 #10752 D7
4+ EK84 4DI10 4 EK108 4Kn6 4Knl04 «ED
v 932 v K64 v EK2 v 98743 vEB865 vK3
485432 ¢ EKNn96 ¢+ K92 + E1083 ¢1054 #8762
«D #E652 *E86 *K9 #E108 #K9432
#9653 442 49763
vED10 vD105 v DKn10942
*7 + D765 .-
#KKn1094 &#DKn43 #Kn65
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 12 INO-1 9 100 13.0 10|10 1 6NO-1 a4 50 140 00|10 1 3NV-3 ¢ A 300 140 0.0
13 2 INO-1 *J 100 130 10|13 3 4v V= +J -420 120 2.0| 8 15 2NDV-1 +Q 200 120 2.0
10 5 24 O= a5 90 100 40| 9 14 3NV+1 &2 -430 90 50| 5 7 24 N-1 *2 -50 9.0 5.0
1 16 24 V= 8 -110 70 7.0[11 6 3NV+l &5 -430 9.0 50| 9 14 3¢ N-1 vK -50 9.0 5.0
11 3 34 O= a5 -110 70 70| 8 15 4y V+l &2 -450 6.0 80[12 4 INV= *A -90 6.0 8.0
7 15 2¢ V42 w7 -130 3.0 11.0(12 4 3NV+2 43 -460 30 11.0|11 6 44 S-2 vA -100 4.0 10.0
14 8 2¢ O+2 49 -130 3.0 11.0(16 2 3NV+2 43 -460 3.0 11.0{13 3 44 S-3 *A -150 1.0 130
4 6 26 O+3 ©vA -150 00 140| 5 7 4vV+2 ¢ -480 00 140|16 2 2vS-3 ] -150 1.0 13.0
7 4« D10865 8 « ED10843 9 « ED1086
Syd vKn2 Vast v2 Nord v KKn5
Alla ¢+ D32 Ingen ¢ 842 ov + K3
«D109 #ED4 #EKn9
a K2 4 Kn93 4Kn762 4K9 4 Kn2 & K953
vK10976 vED3 vKD93 ¥EKn107 vE8742 v1063
49765 +84 + K10 + ED95 + 862 + 109
#EKn #87532 *K87 #Kn92 *K63 #D1052
A E74 a5 474
v 854 v 8654 vD9
¢ EKKn10 ¢+ Kn763 ¢ EDKn754
+K64 #10653 *874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
12 7 34 S+1 46 170 130 10|11 2 4v0O-2 a5 100 140 00| 1 8 3NS+2 v2 460 13.0 1.0
15 9 24 S+2  #A 170 13.0 10| 3 16 4v V-1 oA 50 100 40|13 5 3NN+2 3 460 13.0 1.0
1 5 34N= vA 140 80 6.0|12 7 4v V-1 o A 50 100 40| 7 9 3NN+1 42 430 8.0 6.0
10 14 24 S+1  v7 140 80 6.0[{15 9 4v V-1 a A 50 100 40|15 10 3NN+1 &5 430 8.0 6.0
11 2 24 S+1 v9 140 80 6.0/ 1 5 3NO= +3 -400 50 9.0(/16 4 3NN+1 &5 430 8.0 6.0
13 4 INS= v6 90 40 10.0|10 14 3NO= a5 -400 50 9.0|] 2 6 3NN= *2 400 4.0 10.0
3 16 24S-1 v9 -100 20 120| 6 8 4v V= *A -420 20 120[12 3 44 N-1 *T -50 20 120
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6 8 2vV+1l a5 -140 0.0 14013 4 3NDO= 45 -550 0.0 14.0|14 11 44 N-2 v3 -100 0.0 14.0
10 « KD3 11 « EDKn76 12 4 865
Ost v Kn74 Syd v 1032 Vast v73
Alla ¢ EDKn3 Ingen +K NS + 10643
#EK10 #K532 #«ED95
107 & E965 485 & K103 4 KD9743 & KnlO
vD3 v E108652 v 64 v EKKn985 v8 v EK9642
+ K1062 ¢ 8 +D86542 +E +D 4952
#D9873 &52 #Knl09 #864 #Knl1l0732 #K8
« Kn842 942 4 E2
v K9 vD7 v DKn105
¢ 9754 ¢ Kn10973 ¢ EKKn87
#Kn64 &ED7 *64
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéng
7 9 44 S= vQ 620 140 00| 8 10 34 N= *A 140 140 00| 2 9 3vO-3 *A 150 140 0.0
15 10 3NN= »5 600 120 20| 1 4 4vDO-1 42 100 120 20|14 12 44 V-1 T 50 120 2.0
16 4 29 0-2 a4 200 100 40|11 15 3vO-1 +J 50 100 40| 8 10 4¢ S-1 v8 -100 10.0 4.0
1 8 3NS-1 vQ -100 60 80| 3 7 34N-1 vA -50 70 70| 1 4 34V= v7 -140 70 7.0
12 3 2NN-1 v5 -100 6.0 80|14 12 34 N-1 *A -50 70 70| 3 7 3eV= T -140 70 7.0
13 5 2NN-1 v6 -100 6.0 80| 2 9 44 N-2 ¢ A -100 40 100( 5 16 24 V+3 &5 -200 3.0 11.0
2 6 3NN-2 v2 -200 10 130 5 16 3vO= 49 -140 20 120|113 6 5¢ S-2 v8 -200 3.0 110
14 11 3NN-2 v5 -200 10 13.0(13 6 4vO= a9 -420 0.0 14.0|11 15 44 N-4 vA -400 0.0 14.0
13 « Kn7532 14 «D3 15 +10
Nord v 975 Ost v KD732 Syd v E1092
Alla +D9 Ingen + D96 NS + D62
&E87 &E97 #DKn1097
4KD84 4EI10 & Kn5 41097642 « EK965 4 D832
vKKn3 v1064 vKnl10854 vE9 v- v KDKn7643
+Knl0 ¢ EK53 ¢ 7542 .- 49854 3
D952 #Knl063 *54 #KKn1083 K864 &5
# 96 + EK8 & Kn74
v ED82 v6 v 85
¢ 87642 ¢ EKKn1083 ¢ EKKn107
K4 #D62 &E32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 10 3NO-1 v8 100 140 00|13 7 3NN+3 T 490 140 00|13 8 44DV-1 £Q 100 140 0.0
16 6 26 V+1l &7 -110 120 2.0| 1 14 3NN+2 &J 460 90 50| 3 6 4eV-1 *2 50 10.0 4.0
12 15 2N O = +8 -120 100 40| 2 5 3NS+2 o] 460 9.0 50|10 12 44 V-1 *0Q 50 10.0 4.0
4 8 2NO+1 v2 -150 80 6.0 3 10 3NS+2 &5 460 90 50|15 1 4eV-1 *0Q 50 10.0 4.0
13 7 2NO+2 8 -180 6.0 8.0|12 15 3NS+2 &J 460 90 50|14 2 3vO+1 +A -170 6.0 8.0
2 5 3NO= ¢+6 -600 40 100|16 6 5¢ S+1 & 420 40 100| 4 11 44 V= ¢ Q -420 2.0 120
1 14 3NO+1 49 -630 10 13.0( 4 8 3¢ S+2 & 150 20 120| 5 9 4e V= +Q -420 2.0 120
9 11 3NO+1 +8 -630 1.0 13.0| 9 11 5¢ S-1 aJ -50 0.0 140| 7 16 44 V= L JO) -420 2.0 120
16 « EK863 17 543 18 « EDKn94
Vast vK2 Nord v K10432 Ost vE73
ov ¢ Kn3 Ingen + Kn10 NS ¢ 107
#10532 #3854 732
4975 & DKn «E9 & Kn87 4 7653 #1082
vD94 vEKn1053 v DKn87 vE6 vK v DKn108
+ D96 ¢ EK107 + D8 + EK976 ¢ K62 + EKn83
#E864 #DKn #DKn1097 #K62 #KKn1054 #96
41042 « KD1062 +K
v 876 v 95 v 96542
¢ 8542 ¢ 5432 ¢+ D954
K97 &E3 #EDS8
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 6 34N-3 ¢+ K -150 140 0.0]|15 2 3NO-1 s K 50 140 00|16 8 24 V-3 *T 150 140 0.0
7 16 29 O+2 &2 -170 120 20|16 8 3NO+1 &K -430 120 20|15 2 2NS= a7 120 120 2.0
2 14 3vO+2 ¢4 -200 90 50| 5 12 3NO+2 &K -460 80 6.0| 5 12 2v S= &T 110 10.0 4.0
4 11 29 O+3 42 -200 90 50(11 1 3NO+2 &K -460 80 6.0|11 1 3#V-2 *T 100 8.0 6.0
5 9 4v O+1 T -650 30 11.0(13 9 3NO+2 &K -460 80 6.0 6 10 2¢vS-1 a5 -100 6.0 8.0
10 12 4y O+1 42 -650 3.0 110 4 7 3NO+3 46 -490 20 120|113 9 4v N-2 *9 -200 4.0 10.0
13 8 4v O+1 T -650 3.0 11.0| 6 10 3NO+3 46 -490 20 120| 4 7 3vS-3 vK -300 1.0 13.0
15 1 49y O+1 a2 -650 3.0 11014 3 3NO+3 K -490 20 120|14 3 3NN-3 vQ -300 1.0 13.0
19 « D54 20 « EKD2 21 « K10
Syd v EK43 Vast v 383 Nord v EKn1084
oV ¢ DKn1063 Alla ¢+ D1093 NS 2
&E £D96 £107654
4 E1096 483 # 96 4 8753 4864 & EKNn97
v75 v DKn986 vK1074 v Kn9652 vK92 v76
+75 + EK98 ¢ E75 + 84 ¢+ EK63 ¢ Kn107
#K9832 #D10 #KKn85 #73 #KKn3 #ED98
& KKn72 « Kn104 « D532
v 102 vED v D53
42 ¢ KKn62 + D9854
#Kn7654 &#E1042 *2
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
14 4 INN= v6 90 140 00| 7 11 3NS+2 v7 660 120 201 1 3 3NO-1 a2 50 11.0 3.0
3 15 2NN-1 vQ 50 120 20(12 2 3NS+2 49 660 120 20| 7 2 3NV-1 &4 50 11.0 3.0
9 16 2# V= +Q 90 10.0 40|14 4 3NS+2 #8 660 120 20| 8 12 2NO-1 vQ 50 11.0 3.0
13 10 24 S-2 v7 -100 80 6.0| 6 1 3NS+1 va 630 70 70|16 10 3¢ V-1 &4 50 11.0 3.0
6 1 1lvO+1 ¢4 -110 6.0 80|13 10 3NS+1 v7 630 70 7.0|13 11 4vDN-1 ¢7 -200 6.0 8.0
5 8 3NS-3 v7 -150 20 120| 3 15 3NS= 49 600 30 110| 4 15 3NV= v4 -400 3.0 110
7 11 INN-3 vQ -150 20 120| 9 16 3NS= a9 600 3.0 110| 5 14 3NO= a2 -400 3.0 11.0
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12 2 3NS-3 LX) -150 20 120 5 8 3NN-1 v2 -100 0.0 140 6 9 3NV+1 v4 -430 0.0 14.0
22 & Kn9642 23 «102 24 « K10876
Ost v63 Syd v Kn9743 Vast vES83
oV 493 Alla +D74 Ingen ¢ Knl107
&#KKn102 D105 &ED
& K75 « ED83 4 KD83 4 EKn4 4942 & Knb3
v109852 v EDKn4 v K5 vE10 vD76 K109
+ 1075 ¢ Kn2 ¢ K108 ¢ Kn952 ¢ ED4 498652
&E6 &D74 &#Kn843 #»E976 #8752 #96
«10 #9765 «ED
v K7 v D862 v Kn542
+ EKD864 ¢+ E63 + K3
#9853 &K2 &#KKn1043
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 10 3v O-1 *A 100 140 00| 8 3 5#V-2 T 200 140 00| 2 4 3NN+2 *2 460 8.0 6.0
8 12 4¢ S-1 &A 50 120 20| 2 4 3NO-1 v6 100 9.0 50| 7 10 3NN+2 +6 460 8.0 6.0
13 11 2¢O = ¢ A -110 10.0 40| 6 14 3NO-1 v6 100 90 50| 8 3 3NN+2 +9 460 8.0 6.0
1 3 3v0= *A -140 50 90| 7 10 3NV-1 v4 100 90 50| 9 1 3NN+2 +9 460 8.0 6.0
4 15 29y O+1 +A -140 50 90|15 5 3NV-1 v3 100 9.0 5011 16 3NN+2 *2 460 8.0 6.0
5 14 3vO= ¢ A -140 50 9.0|13 12 INO+2 +6 -150 4.0 10.0|13 12 3NN+2 +9 460 8.0 6.0
7 2 3v0O= *A -140 50 90| 9 1 3NO= v2 -600 1.0 13.0|15 5 3NN+2 v9 460 80 6.0
6 9 3vO+1l +A -170 0.0 14011 16 3NO= 46 -600 1.0 13.0| 6 14 3NN+1 +9 430 0.0 14.0
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